

ON THE LOGARITHMIC ORDER OF ANALYTIC FUNCTIONS
REPRESENTED BY DIRICHLET SERIES

by K. N. AWASTHI, *Department of Mathematics, D.A.V. College, Kanpur*
and

K. K. DIXIT, *Department of Mathematics, Janta College, Bakewar (Etawah)*

(Received 14 November 1977; after revision 2 November 1978)

In the present paper, to study precisely the growth of functions of zero order which are represented by Dirichlet series and are analytic in the half plane, the concepts of logarithmic order and lower logarithmic order have been introduced and the growth of such functions has been studied through these concepts.

§1. Consider the Dirichlet series

$$f(s) = \sum_{n=1}^{\infty} a_n \exp(s\lambda_n) \quad \dots(1.1)$$

where $\lambda_1 \geq 0$, $0 < \lambda_n < \lambda_{n+1} \rightarrow \infty$, $s = \sigma + it$ (σ, t being real variables), $\{a_n\}_1^{\infty}$ is sequence of complex numbers and

$$\limsup_{n \rightarrow \infty} \frac{n}{\lambda_n} = D < \infty. \quad \dots(1.2)$$

If the series given by (1.1) converges absolutely in the half plane $\text{Re } s < \alpha$ ($-\infty < \alpha < \infty$) then it is known (Mandelbrojt 1944, p. 166) that the series (1.1) represents an analytic function in $\text{Re } s < \alpha$, and since (1.2) holds we have

$$\alpha = - \limsup_{n \rightarrow \infty} \frac{\log |a_n|}{\lambda_n}. \quad \dots(1.3)$$

Set, $M(\sigma, f) \equiv M(\sigma) = \text{l.u.b.}_{-\infty < t < \infty} |f(\sigma + it)|$

$$m(\sigma, f) \equiv m(\sigma) = \max_{n \geq 1} \{ |a_n| e^{\sigma \lambda_n} \}$$

and $N(\sigma) = \max \{ n : m(\sigma) = |a_n| e^{\sigma \lambda_n} \}$.

It is known (Doetsch 1920) that $\log M(\sigma)$ is an increasing convex function of $\sigma < \alpha$. Further, if $\alpha = \infty$, $f(s)$ the sum function of (1.1) represents an entire function and in this case much more is known about the growth of $M(\sigma)$, $m(\sigma)$ and $N(\sigma)$. However

if $f(s)$ is not an entire function but represents an analytic function in the half plane $\text{Re } s < \alpha$ ($-\infty < \alpha < \infty$), Krishna Nandan (1973) has defined the order ρ and lower order λ ($0 \leq \lambda, \rho \leq \infty$) of $f(s)$ as

$$\lim_{\sigma \rightarrow \alpha} \sup \frac{\log \log M(\sigma)}{\log (1 - e^{\sigma - \alpha})^{-1}} = \rho.$$

Further, if $f(s)$ is of order ρ ($0 < \rho < \infty$) the type T and lower type t ($0 \leq t, T \leq \infty$) of $f(s)$ are defined as,

$$\lim_{\sigma \rightarrow \alpha} \sup \frac{\log M(\sigma)}{(1 - e^{\sigma - \alpha})^{-\rho}} = T.$$

The above definition of type and lower type as given by Krishna Nandan does not seem to be feasible if $f(s)$ is of order zero and, therefore, to study precisely the growth of $f(s)$, we introduce the concepts of logarithmic order and lower logarithmic order and derive some of the growth properties of $f(s)$ in the present paper.

§2. Let D_α^* denote the class of all functions $f(s)$ of the form (1.1), which satisfy (1.2) and are analytic in the half plane $\text{Re } s < \alpha$ ($-\infty < \alpha < \infty$) and are of order zero.

Let $A_\alpha^* \subset D_\alpha^*$. We shall say that $f(s) \in A_\alpha^*$, if and only if, there exists $\epsilon > 0$ such that

$$\frac{m(\sigma, f)}{(1 - e^{\sigma - \alpha})^{-\epsilon}} \rightarrow \infty, \text{ as } \sigma \rightarrow \alpha. \tag{2.1}$$

We now define the logarithmic order and lower-logarithmic order of the function $f(s) \in A_\alpha^*$ as follows :

Definition — The function $f(s) = \sum_{n=1}^\infty a_n \exp(s\lambda_n)$ of the class $A_\alpha^* \subset D_\alpha^*$ is said to be of logarithmic order ρ^* and lower logarithmic order λ^* ($1 \leq \lambda^*, \rho^* \leq \infty$) in the half-plane $\text{Re } s < \alpha$, if

$$\lim_{\sigma \rightarrow \alpha} \sup \frac{\log \log M(\sigma)}{\log \log (1 - e^{\sigma - \alpha})^{-1}} = \rho^*.$$

Remark 1 : Since $M(\sigma) \geq m(\sigma)$, it is easily seen in view of (2.1) that $1 \leq \lambda^*, \rho^* \leq \infty$.

Remark 2 : Condition (2.1) is necessary in order that $1 \leq \lambda^*, \rho^* \leq \infty$. For example, consider the function

$$f(s) = \sum_{n=1}^{\infty} \frac{e^{ns}}{n}.$$

It is seen that

$$M(\sigma, f) = \log(1 - e^{\sigma})^{-1}$$

and that $f(s)$ represents an analytic function in the half-plane $\operatorname{Re} s < 0$.

But

$$\frac{\log \log M(\sigma, f)}{\log \log(1 - e^{\sigma})^{-1}} = \frac{\log \log \log(1 - e^{\sigma})^{-1}}{\log \log(1 - e^{\sigma})^{-1}} \rightarrow 0, \text{ as } \sigma \rightarrow 0$$

so that $\rho^* = \lambda^* = 0$. This is so, because condition (2.1) does not hold.

In the present paper, first we prove a theorem which connects ρ^* , λ^* with the maximum term $m(\sigma)$ of the series (1.1) and then we obtain formula for ρ^* in terms of the coefficients a_n 's and exponents λ_n 's. Next we construct an example of a function for which $\rho^* > \lambda^*$. Finally in section 4 we obtain formula for ρ^* in terms of $\lambda_{N(\sigma)}$, where $N(\sigma)$ is the rank of the maximum term.

§3. *Theorem 3.1* — If $f(s) = \sum_{n=1}^{\infty} a_n \exp(s\lambda_n)$ belongs to the class A_{α}^* and is of logarithmic order ρ^* ($1 < \rho^* < \infty$), lower logarithmic order λ^* ($1 \leq \lambda^* < \infty$) and satisfies

$$\liminf_{n \rightarrow \infty} (\lambda_{n+1} - \lambda_n) = \beta > 0 \quad \dots(3.1)$$

then

$$\lim_{\sigma \rightarrow \alpha} \sup \frac{\log \log m(\sigma)}{\log \log(1 - e^{\sigma-\alpha})^{-1}} = \frac{\rho^*}{\lambda^*}. \quad \dots(3.2)$$

PROOF : From (2.2), for any $\epsilon > 0$ and $\alpha > \sigma > \sigma_1(\epsilon)$ we have

$$\log M(\sigma) < [\log(1 - e^{\sigma-\alpha})^{-1}]^{\rho^*+\epsilon}. \quad \dots(3.3)$$

Now $m(\sigma) \leq M(\sigma)$, and so

$$\log m(\sigma) \leq \log M(\sigma) < [\log(1 - e^{\sigma-\alpha})^{-1}]^{\rho^*+\epsilon}, \text{ for } \sigma > \sigma_1(\epsilon). \quad \dots(3.4)$$

Further, it is known [Krishna Nandan 1973, p. 215] that

$$\log m(\sigma) = \log m(\sigma_1) + \int_{\sigma_1}^{\sigma} \lambda_{N(x)} dx, \quad -\infty < \sigma_1 < \sigma < \alpha. \quad \dots(3.5)$$

Therefore, since $\limsup_{n \rightarrow \infty} \frac{n}{\lambda_n} = D < \infty$, we have for $\sigma > \sigma_1(\epsilon)$ sufficiently close to α

$$\begin{aligned} N(\sigma) (1 - e^{\sigma-\alpha}) &< (D + \epsilon) \lambda_{N(\sigma)} (1 - e^{\sigma-\alpha}) \\ &\leq 2(D + \epsilon) \int_{\sigma}^{\sigma + \frac{1}{2}(1 - e^{\sigma-\alpha})} \lambda_{N(x)} dx \\ &< 2(D + \epsilon) \log m(\sigma + \frac{1}{2}(1 - e^{\sigma-\alpha})) \\ &< 2(D + \epsilon) [\log [1 - \exp \{ \sigma - \alpha + \frac{1}{2}(1 - e^{\sigma-\alpha}) \}]^{-1}]^{\rho^* + \epsilon}; \\ &\hspace{15em} \text{by (3.4)} \\ &= 2(D + \epsilon) \left[\log \left[(1 - e^{\sigma-\alpha}) \left\{ 1 - \frac{1}{2} e^{\sigma-\alpha} - \frac{e^{\sigma-\alpha}(1 - e^{\sigma-\alpha})}{8} \right\} \right]^{-1} \right]^{\rho^* + \epsilon} \\ &< 2(D + \epsilon) [\log \{3(1 - e^{\sigma-\alpha})\}^{-1}]^{\rho^* + \epsilon}. \end{aligned}$$

Thus

$$N(\sigma) (1 - e^{\sigma-\alpha}) < (D + \epsilon) \lambda_{N(\sigma)} (1 - e^{\sigma-\alpha}) < K [\log (1 - e^{\sigma-\alpha})^{-1}]^{\rho^* + \epsilon}. \tag{3.6}$$

Again, it has been shown (Krishna Nandan 1973, p. 216) that if (3.1) holds, then for $\gamma < \beta$

$$M(\sigma) < m(\sigma) \left[1 + \frac{1 + \gamma}{\gamma} N \left\{ \sigma + \frac{1 - e^{\sigma-\alpha}}{N(\sigma)} \right\} \right] (1 - e^{\sigma-\alpha})^{-1}.$$

Putting $\delta = \frac{1 + \gamma}{\gamma}$, and making use of (3.6), we get

$$\log \log M(\sigma) < \log \log m(\sigma)$$

$$+ \log \left[1 + \frac{2 \log (1 - e^{\sigma-\alpha})^{-1} + \log \delta + (\rho^* + \epsilon) \log \log (1 - e^{\sigma-\alpha})^{-1} + o(1)}{\log m(\sigma)} \right].$$

Dividing by $\log \log (1 - e^{\sigma-\alpha})^{-1}$ and passing to limits, we get

$$\limsup_{\sigma \rightarrow \alpha} \frac{\log \log M(\sigma)}{\log \log (1 - e^{\sigma-\alpha})^{-1}} \leq \limsup_{\sigma \rightarrow \alpha} \frac{\log \log m(\sigma)}{\log \log (1 - e^{\sigma-\alpha})^{-1}}. \tag{3.7}$$

The theorem follows by (3.7) and the fact that

$$m(\sigma) \leq M(\sigma).$$

Next we show that

Theorem 3.2 — If $f(s) = \sum a_n \exp (s\lambda_n)$ belongs to the class A_{Σ}^* and is of logarithmic order ρ^* ($1 \leq \rho^* \leq \infty$), then

$$\max \left\{ 1, \limsup_{n \rightarrow \infty} \frac{\log^+ \{ \alpha \lambda_n + \log | a_n | \}}{\log \log \lambda_n} \right\} = \rho^*. \quad \dots(3.8)$$

PROOF : Let

$$\max \left\{ 1, \limsup_{n \rightarrow \infty} \frac{\log^+ \{ \alpha \lambda_n + \log | a_n | \}}{\log \log \lambda_n} \right\} = \mu \quad \dots(3.9)$$

then $1 \leq \mu \leq \infty$. First we show that $\mu \leq \rho^*$. For this let first, $\rho^* < \infty$, then from (2.2) for given $\epsilon > 0$, $\sigma > \sigma_0 = \sigma_0(\epsilon)$, we have

$$\log M(\sigma) < [\log (1 - e^{\sigma - \alpha})^{-1}]^u, \text{ where } u = \rho^* + \epsilon. \quad \dots(3.10)$$

Also, we know that

$$\log M(\sigma) \geq \log | a_n | + \sigma \lambda_n.$$

This with (3.10) gives, for $\sigma > \sigma_0 = \sigma_0(\epsilon)$

$$\log | a_n | < [\log (1 - e^{\sigma - \alpha})^{-1}]^u - \sigma \lambda_n. \quad \dots(3.11)$$

Now, choosing n such that

$$\frac{1}{1 - e^{\sigma - \alpha}} = \frac{\lambda_n}{u} \quad \dots(3.12)$$

it easily follows that

$$\alpha \lambda_n + \log | a_n | < \left(\log \frac{\lambda_n}{u} \right)^u - \lambda_n \log \left(1 - \frac{u}{\lambda_n} \right).$$

Hence

$$\log^+ (\alpha \lambda_n + \log | a_n |) < \log \left[\left(\log \frac{\lambda_n}{u} \right)^u - \lambda_n \log \left(1 - \frac{u}{\lambda_n} \right) \right].$$

Dividing both sides by $\log \log \lambda_n$ and proceeding to limit, we have

$$\limsup_{n \rightarrow \infty} \frac{\log^+ (\alpha \lambda_n + \log | a_n |)}{\log \log \lambda_n} \leq u = \rho^* + \epsilon.$$

Since ϵ can be chosen arbitrarily small, we have

$$\limsup_{n \rightarrow \infty} \frac{\log^+ (\alpha \lambda_n + \log | a_n |)}{\log \log \lambda_n} \leq \rho^*. \quad \dots(3.13)$$

which obviously holds if $\rho^* = \infty$. Thus $\mu \leq \rho^*$.

To complete the proof of theorem, we now show that $\mu \geq \rho^*$.

$\log^+ x = \log x$, if $x > 1$
 $= 0$ otherwise.

Let $\mu < \infty$, then from (3.9) for $\epsilon > 0$, we have for all $n > n_0 = n_0(\epsilon)$

$$\log |a_n| < [(\log \lambda_n)^T - \lambda_n \alpha], \text{ where } T = \mu + \epsilon. \quad \dots(3.14)$$

Also,
$$M(\sigma) \leq \sum_{n=1}^{\infty} |a_n| e^{\sigma \lambda_n},$$

therefore, for $\sigma < \alpha$, by using (3.14), we get

$$M(\sigma) < P(n_0) + \sum_{n=n_0+1}^{\infty} \exp [(\log \lambda_n)^T + (\sigma - \alpha) \lambda_n] \quad \dots(3.15)$$

where $P(n_0)$, the sum of first n_0 terms, is bounded.

Now, it is easily seen that if $g(x) = (\log x)^T + rx$, where $r < 0$, then

$$\max_{0 \leq x \leq \infty} g(x) = \left[\log \frac{T}{-r} \right]^T - T.$$

Thus

$$\exp [(\log \lambda_n)^T + (\sigma - \alpha) \lambda_n] \leq \exp \left[\left(\log \frac{T}{\alpha - \sigma} \right)^T - T \right],$$

for all n and hence (3.15) gives

$$\begin{aligned} M(\sigma) &< P(n_0) + N \exp \left[\left(\log \frac{T}{\alpha - \sigma} \right)^T - T \right] \\ &\quad + \sum_{n=N+1}^{\infty} \exp [(\log \lambda_n)^T + (\sigma - \alpha) \lambda_n] \end{aligned}$$

where
$$N = (D + \epsilon) \frac{2}{\alpha - \sigma} \left[\log \frac{2}{\alpha - \sigma} \right]^T.$$

If σ is sufficiently close to α , and $n > N$, then by using (1.2), we have

$$\begin{aligned} \sum_{n=N+1}^{\infty} \exp [(\log \lambda_n)^T + (\sigma - \alpha) \lambda_n] &< \sum_{n=N+1}^{\infty} \exp \left\{ (\sigma - \alpha) \frac{\lambda_n}{2} \right\} \\ &< \sum_{n=N+1}^{\infty} \exp \left\{ \frac{\sigma - \alpha}{2} \frac{n}{D + \epsilon} \right\} \\ &= \frac{\exp \left\{ \frac{\sigma - \alpha}{2} \frac{N + 1}{D + \epsilon} \right\}}{1 - \exp \left(\frac{\sigma - \alpha}{2(D + \epsilon)} \right)}. \end{aligned}$$

Since

$$\begin{aligned} \lim_{\sigma \rightarrow \alpha} \frac{\exp \left\{ \frac{(\sigma - \alpha) N + 1}{2(D + \epsilon)} \right\}}{1 - \exp \left[\frac{\sigma - \alpha}{2(D + \epsilon)} \right]} &= \lim_{\sigma \rightarrow \alpha} \frac{\exp \left[- \left\{ \log \frac{2}{\alpha - \sigma} \right\}^T \right]}{- \frac{(\sigma - \alpha)}{2(D + \epsilon)} [1 + o(\sigma - \alpha)]} \\ &= 0, \text{ as } \sigma \rightarrow \alpha (T > 1) \end{aligned}$$

we have

$$\sum_{n=N+1}^{\infty} \exp \{ (\log \lambda_n)^T + (\sigma - \alpha) \lambda_n \} = o(1), \text{ as } \sigma \rightarrow \alpha.$$

Thus, $M(\sigma) \leq P(n_0) + N \exp \left(\left[\log \frac{T}{\alpha - \sigma} \right]^T - T \right) + o(1)$

or, $\log \log M(\sigma) \leq T \log \left(\log \frac{T}{\alpha - \sigma} \right) (1 - o(1)) + o(1).$

Dividing by $\log \log (1 - e^{\sigma-\alpha})^{-1}$ on both sides and proceeding to limits, we get

$$\rho^* \leq T = \mu + \epsilon.$$

Since ϵ can be made arbitrarily small, we obtain

$$\rho^* \leq \mu$$

which holds if $\mu = \infty$. Hence the theorem.

In the following theorem we construct an example of a function in which $\rho^* > \lambda^*$ and show that the result analogous to (3.8) for λ^* does not always hold.

Theorem 3.3 — There exists an analytic function $f(s) = \sum_1^{\infty} a_n \exp(s\lambda_n) \in A_{\alpha}^*$ such that (i) $a_n > 0$, (ii) $\liminf_{n \rightarrow \infty} (\lambda_{n+1} - \lambda_n) = \beta > 0$, and (iii) $\rho^* > \lambda^*$.

To prove the theorem first we prove the following lemma :

Lemma — If $f(s) = \sum_{n=1}^{\infty} a_n \exp(s\lambda_n)$ belongs to the class A_{α}^* having lower logarithmic order λ^* ($1 \leq \lambda^* \leq \infty$), and if $\{n_k\}_1^{\infty}$ is an increasing sequence of positive integers, then

$$\lambda^* \geq \liminf_{k \rightarrow \infty} \frac{\log^+(\alpha \lambda_{n_k} + \log |a_{n_k}|)}{\log \log \lambda_{n_{k+1}}}. \tag{3.16}$$

PROOF : Let first

$$\liminf_{k \rightarrow \infty} \frac{\log^+(\alpha \lambda_{n_k} + \log |a_{n_k}|)}{\log \log \lambda_{n_{k+1}}} = \theta \quad (0 \leq \theta < \infty).$$

Then, for any given $\epsilon > 0$, we can find a fixed integer $N = N(\epsilon)$ such that for $k > N$

$$\log^+(\alpha\lambda_{n_k} + \log | a_{n_k} |) > \log (\log \lambda_{n_{k+1}})^{\theta-\epsilon}$$

or
$$\log | a_{n_k} | > (\log \lambda_{n_{k+1}})^{\theta-\epsilon} - \alpha\lambda_{n_k}.$$

Choose
$$\alpha - \sigma_k = \frac{\theta - \epsilon}{\lambda_{n_k}}; k = 1, 2, 3 \dots$$

If $k > N$ and $\sigma_k \leq \sigma \leq \sigma_{k+1}$, then by using Cauchy's inequality, we get

$$\begin{aligned} \log M(\sigma) &\geq \log | a_{n_k} | + \lambda_{n_k} \sigma \\ &> (\log \lambda_{n_{k+1}})^{\theta-\epsilon} - (\alpha - \sigma_k) \lambda_{n_k} \\ &= [\log (\alpha - \sigma_{k+1})^{-1}]^{\theta-\epsilon} + O(1) \end{aligned}$$

or
$$\begin{aligned} \log \log M(\sigma) &\geq (\theta - \epsilon) \log \log (\alpha - \sigma_{k+1})^{-1} + o(1). \\ &\geq (\theta - \epsilon) \log \log (\alpha - \sigma)^{-1} + o(1). \end{aligned}$$

From this we easily have

$$\lambda^* = \liminf_{\sigma \rightarrow \alpha} \frac{\log \log M(\sigma)}{\log \log (1 - e^{\sigma-\alpha})^{-1}} \geq \theta.$$

If $\theta = \infty$, it can be easily seen that $\lambda^* = \infty$.

This proves the Lemma.

PROOF OF THEOREM 3.3 : Let

$$f(s) = \sum_{n=1}^{\infty} \exp \{(\log \lambda_n)^2 + s\lambda_n\} \tag{3.17}$$

where $\log \lambda_1 = 2, \log \lambda_{n+1} = (\log \lambda_n)^2.$

Then $f(s)$ is analytic in the half-plane $\text{Re } s < \alpha = 0$. Obviously $a_n > 0$ and

$$\liminf_{n \rightarrow \infty} (\lambda_{n+1} - \lambda_n) > 0.$$

Further, let $\sigma_n = \frac{(\log \lambda_n)^2 - (\log \lambda_{n+1})^2}{\lambda_{n+1} - \lambda_n}$, then it is seen that σ_n is a non-decreasing function of n .

If n th term is the maximum term, then

$$\log m(\sigma, f) = (\log \lambda_n)^2 + \sigma\lambda_n$$

and $\lambda_{N(\sigma)} = \lambda_n, \text{ for } \sigma_{n-1} \leq \sigma < \sigma_n.$

Now for $\sigma = \sigma_{n-1}$

$$\begin{aligned} \frac{\log \log m(\sigma, f)}{\log \log (1 - e^\sigma)^{-1}} &\sim \frac{\log [(\log \lambda_n)^2 + \sigma_{n-1} \lambda_n]}{\log \log [-\sigma_{n-1}]^{-1}} \\ &\sim \frac{\log \left[\frac{\lambda_n (\log \lambda_{n-1})^2 [1 + o(1)]}{\lambda_n [1 + o(1)]} \right]}{\log \log \left[\frac{\lambda_n [1 + o(1)]}{(\log \lambda_n)^2 [1 + o(1)]} \right]} \\ &\sim \frac{\log (\log \lambda_{n-1})^2}{\log \log \lambda_n} \rightarrow 1 \end{aligned}$$

since $\log \lambda_n = (\log \lambda_{n-1})^2$.

Also, by using (3.16) we have $\lambda^* \geq 1$, hence it follows that

$$\lambda^* = \liminf_{\sigma \rightarrow 0} \frac{\log \log m(\sigma, f)}{\log \log (1 - e^\sigma)^{-1}} = 1.$$

Further, it is seen that

$$\liminf_{n \rightarrow \infty} \frac{\log^+ [\alpha \lambda_n + \log |a_n|]}{\log \log \lambda_n} = \limsup_{n \rightarrow \infty} \frac{\log^+ [\alpha \lambda_n + \log |a_n|]}{\log \log \lambda_n} = 2.$$

Hence by (3.8) $\rho^* = 2$. Thus $\rho^* > \lambda^*$ and the relation analogous to (3.8) for λ^* does not hold in this case.

Next, we show that

§4. *Theorem 4.1* — If $f(s) = \sum_{n=1}^{\infty} a_n \exp(s\lambda_n)$ belongs to the class A_α^* with logarithmic order $\rho^* (1 < \rho^* < \infty)$ and satisfies (3.1), then

$$\rho^* - 1 \leq \limsup_{\sigma \rightarrow \alpha} \frac{\log [\lambda_{N(\sigma)} (1 - e^{\sigma-\alpha})]}{\log \log (1 - e^{\sigma-\alpha})^{-1}} \leq \rho^*. \quad \dots(4.1)$$

PROOF: Let

$$\limsup_{\sigma \rightarrow \alpha} \frac{\log [\lambda_{N(\sigma)} (1 - e^{\sigma-\alpha})]}{\log \log (1 - e^{\sigma-\alpha})^{-1}} = \theta.$$

Then for $0 < \theta < \theta_1 < \infty$, there exists a σ_0 such that for $\sigma_0 < \sigma < \alpha$,

$$\lambda_{N(\sigma)} (1 - e^{\sigma-\alpha}) < [\log (1 - e^{\sigma-\alpha})^{-1}]^{\theta_1}.$$

But by (3.5)

$$\log m(\sigma) = \log m(\sigma_0) + \int_{\sigma_0}^{\sigma} \lambda_{N(x)} dx$$

where $-\infty < \sigma_0 < \sigma < \alpha$.

Therefore for σ sufficiently close to α

$$\begin{aligned} \log m(\sigma) &< \log m(\sigma_0) + \int_{\sigma_0}^{\sigma} \frac{[\log(\alpha - x)^{-1}]^{\theta_1}}{\alpha - x} dx \\ &= \frac{[\log(\alpha - \sigma)^{-1}]^{\theta_1 + 1}}{\theta_1 + 1} + O(1) \end{aligned}$$

or, $\log \log m(\sigma) < (\theta_1 + 1) \log \log(\alpha - \sigma)^{-1} + O(1).$... (4.2)

Dividing by $\log \log(1 - e^{\sigma - \alpha})^{-1}$ and proceeding to limits, we have

$$\rho^* \leq \theta_1 + 1.$$

Since it is true for every $\theta_1 > \theta$, so

$$\rho^* \leq \theta + 1. \quad \dots(4.3)$$

If $\theta = 0$ then $\rho^* = 1$.

Further, by (3.6)

$$\lambda_{N(\sigma)}(1 - e^{\sigma - \alpha}) < K [\log(1 - e^{\sigma - \alpha})^{-1}]^{\rho^* + \epsilon}$$

or, $\log [\lambda_{N(\sigma)}(1 - e^{\sigma - \alpha})] < (\rho^* + \epsilon) \log \log(1 - e^{\sigma - \alpha})^{-1} + O(1).$

This gives

$$\rho^* \geq \limsup_{\sigma \rightarrow \alpha} \frac{\log [\lambda_{N(\sigma)}(1 - e^{\sigma - \alpha})]}{\log \log(1 - e^{\sigma - \alpha})^{-1}} = \theta. \quad \dots(4.4)$$

Combining (4.3) and (4.4), we get (4.1).

Remark : The relation (4.1) is best possible as is seen by the following examples.

Example 4.1 — Let $f(s) = \sum_{n=1}^{\infty} n \exp(sn)$, then $f(s)$ is analytic in the half-plane

$\text{Re } s < 0$.

If n th term is the maximum term, then

$$\log m(\sigma, f) = \log n + \sigma n$$

and $\lambda_{N(\sigma)} = n$ for $\sigma_{n-1} \leq \sigma < \sigma_n$,

where $\sigma_{n-1} = \log(n - 1) - \log n$

$$= \log\left(1 - \frac{1}{n}\right).$$

Now for $\sigma = \sigma_{n-1}$

$$\begin{aligned} \frac{\log [\lambda_{N(\sigma)} (1 - e^\sigma)]}{\log \log (1 - e^\sigma)^{-1}} &\sim \frac{\log \left[-n \log \left(1 - \frac{1}{n} \right) \right]}{\log \log \left[-\log \left(1 - \frac{1}{n} \right) \right]^{-1}} \\ &\sim \frac{\log \left[1 + \frac{1}{2n} \dots \right]}{\log \log \left[\frac{1}{n} + \frac{1}{2n^2} \dots \right]^{-1}} \rightarrow 0 \end{aligned}$$

and since, $\frac{\log [\lambda_{N(\sigma_{n-1})} (1 - e^{\sigma_{n-1}})]}{\log \log (1 - e^{\sigma_{n-1}})^{-1}} \geq \frac{\log [\lambda_{N(\sigma)} (1 - e^\sigma)]}{\log \log (1 - e^\sigma)^{-1}}$

so, $\limsup_{\sigma \rightarrow 0} \frac{\log [\lambda_{N(\sigma)} (1 - e^\sigma)]}{\log \log (1 - e^\sigma)^{-1}} = 0.$

Further, by (3.8) $\rho^* = 1.$

Thus, $\limsup_{\sigma \rightarrow 0} \frac{\log [\lambda_{N(\sigma)} (1 - e^\sigma)]}{\log \log (1 - e^\sigma)^{-1}} = \rho^* - 1$ in this case.

Example 4.2 — Let $f(s)$ represent an analytic function given by (3.17), then it is shown that $\rho^* = 2$ and $\lambda^* = 1.$

Further, $\lambda_{N(\sigma)} = \lambda_n$, for $\sigma_{n-1} \leq \sigma < \sigma_n$, and

$$\sigma_n = \frac{(\log \lambda_n)^2 - (\log \lambda_{n+1})^2}{\lambda_{n+1} - \lambda_n}.$$

Therefore, for $\sigma = \sigma_{n-1}$,

$$\begin{aligned} \frac{\log [\lambda_{N(\sigma)} (1 - e^\sigma)]}{\log \log (1 - e^\sigma)^{-1}} &\sim \frac{\log [\lambda_n(-\sigma)]}{\log \log [-\sigma]^{-1}} \\ &\sim \frac{\log [-\lambda_n(\sigma_{n-1})]}{\log \log [-\sigma_{n-1}]^{-1}} \\ &\sim \frac{\log \left[\frac{\lambda_n (\log \lambda_n)^2 [1 + o(1)]}{\lambda_n [1 + o(1)]} \right]}{\log \log \left[\frac{\lambda_n [1 + o(1)]}{(\log \lambda_n)^2 [1 + o(1)]} \right]} \\ &\sim \frac{\log (\log \lambda_n)^2}{\log \log \lambda_n} \rightarrow 2. \end{aligned}$$

Further, we have

$$\frac{\log [\lambda_{N(\sigma_{n-1})} (1 - e^{\sigma_{n-1}})]}{\log \log (1 - e^{\sigma_{n-1}})^{-1}} \geq \frac{\log [\lambda_{N(\sigma)} (1 - e^\sigma)]}{\log \log (1 - e^\sigma)^{-1}}.$$

Hence it follows that

$$\limsup_{\sigma \rightarrow 0} \frac{\log [\lambda_N(\sigma) (1 - e^\sigma)]}{\log \log (1 - e^\sigma)^{-1}} = 2.$$

Thus, $\limsup_{\sigma \rightarrow 0} \frac{\log \lambda_N(\sigma) (1 - e^\sigma)}{\log \log (1 - e^\sigma)^{-1}} = 2 = \rho^*$ in the case.

ACKNOWLEDGEMENT

The authors are thankful to Dr O. P. Juneja, Department of Mathematics, I.I.T., Kanpur, for suggesting the problem and offering his valuable guidance in the preparation of this paper.

REFERENCES

- Doetsch, G. (1920). Über die obere Grenze des absoluten Betrages einer analytischen Funktion auf Geraden. *Math. Z.*, **8**, 237-40.
- Krishna Nandan (1973). On the maximum term and maximum modulus of analytic functions represented by Dirichlet series. *Annls. Polon. Math.*, **28**, 213-22.
- Mandelbrojt, S. (1944). Dirichlet Series. *Rice Institue Pamphlet*, **31**, 157-272.